

$$f(x) = \sqrt{x^2 + 1}, x \in \mathbb{R} .$$

$$\lim_{x \rightarrow -\infty} \frac{f^2(x) + x^4}{f^4(x) + x^2}$$

)

$$\text{i. } \lim_{x \rightarrow +\infty} f(x)$$

$$\text{ii. } \lim_{x \rightarrow +\infty} \frac{f(x)}{x}$$

$$\text{iii. } \lim_{x \rightarrow +\infty} (f(x) - x)$$

$$\text{iv. } \lim_{x \rightarrow +\infty} \frac{xf(x) - x^2 + \mu x}{f^2(x) + x^2 + \mu x}$$

)

$$\lim_{x \rightarrow +\infty} (f(x) + f(2x) - f(3x))$$

)

 $\in \mathbb{R}$

$$\lim_{x \rightarrow -\infty} (f(x) + x) = 0 .$$

)

$$\text{i. } \lim_{x \rightarrow +\infty} \frac{f^2(x) - \mu x}{f^2(x) + \mu x}$$

$$\text{ii. } \lim_{x \rightarrow +\infty} \frac{x - \mu x}{f^2(x)}$$

$$\text{iii. } \lim_{x \rightarrow +\infty} \frac{f^2(x)}{4 + \mu x + x}$$

)

$$\lim_{x \rightarrow +\infty} \left(x - \mu \frac{1}{f(x)} \right)$$

)

$$\lim_{x \rightarrow +\infty} (e^{f(x)} - 2e^x)$$

)

$$\text{i. } \lim_{x \rightarrow +\infty} \frac{e^{f(x)} - 2^{2f(x)+1}}{e^{f(x)} + 3^{f(x)}}$$

$$\text{ii. } \lim_{x \rightarrow -\infty} \frac{2^{-f(x)} + 5^{-f(x)}}{3^{-f(x)} - 4^{-f(x)}}$$

$$\begin{aligned} \text{)} \lim_{x \rightarrow -\infty} \frac{f^2(x) + x^4}{f^4(x) + x^2} &= \lim_{x \rightarrow -\infty} \frac{(\sqrt{x^2+1})^2 + x^4}{(\sqrt{x^2+1})^4 + x^2} = \lim_{x \rightarrow -\infty} \frac{x^4 + x^2 + 1}{(x^2+1)^2 + x^2} = \\ &= \lim_{x \rightarrow -\infty} \frac{x^4 + x^2 + 1}{x^4 + 2x^2 + 1 + x^2} = \lim_{x \rightarrow -\infty} \frac{x^4 + x^2 + 1}{x^4 + 3x^2 + 1} = \lim_{x \rightarrow -\infty} \frac{x^{\cancel{4}}}{x^{\cancel{4}}} = 1 \end{aligned}$$

$$\text{)} \text{ i. } \lim_{x \rightarrow +\infty} f(x) = \lim_{x \rightarrow +\infty} \sqrt{x^2+1} = \lim_{x \rightarrow +\infty} \sqrt{x^2 \left(1 + \frac{1}{x^2}\right)} = \lim_{x \rightarrow +\infty} \left(x \sqrt{1 + \frac{1}{x^2}}\right) = +\infty$$

$$\text{ii. } \lim_{x \rightarrow +\infty} \frac{f(x)}{x} = \lim_{x \rightarrow +\infty} \frac{\sqrt{x^2+1}}{x} = \lim_{x \rightarrow +\infty} \frac{x \sqrt{1 + \frac{1}{x^2}}}{x} = 1$$

$$\text{iii. } \lim_{x \rightarrow +\infty} (f(x) - x) = \lim_{x \rightarrow +\infty} (\sqrt{x^2+1} - x) = \lim_{x \rightarrow +\infty} \frac{(\sqrt{x^2+1} - x)(\sqrt{x^2+1} + x)}{\sqrt{x^2+1} + x} = \lim_{x \rightarrow +\infty} \frac{x^{\cancel{2}} + 1 - x^{\cancel{2}}}{x \left(\sqrt{1 + \frac{1}{x^2}} + 1\right)} = 0$$

$$\text{iv. } \lim_{x \rightarrow +\infty} \frac{xf(x) - x^2 + \mu x}{f^2(x) + x^2 + \mu x} = \lim_{x \rightarrow +\infty} \frac{\frac{xf(x) - x^2 + \mu x}{x^2}}{\frac{f^2(x) + x^2 + \mu x}{x^2}} = \lim_{x \rightarrow +\infty} \frac{\frac{x^{\cancel{2}}f(x)}{x^{\cancel{2}}} - 1 + \frac{\mu x}{x^2}}{\frac{f^2(x)}{x^2} + 1 + \frac{\mu x}{x^2}} = \frac{1 - 1 + 0}{1^2 + 1 + 0} = 0$$

$$x > 0 \quad : \quad \left| \frac{\mu x}{x^2} \right| = \frac{|\mu x|}{x^2} \leq \frac{1}{x^2} \Leftrightarrow -\frac{1}{x^2} \leq \frac{\mu x}{x^2} \leq \frac{1}{x^2}, \quad \lim_{x \rightarrow +\infty} \frac{1}{x^2} = \lim_{x \rightarrow +\infty} \left(-\frac{1}{x^2}\right) = 0,$$

$$\mu \quad \lim_{x \rightarrow +\infty} \frac{\mu x}{x^2} = 0$$

$$\begin{aligned} \text{)} \lim_{x \rightarrow +\infty} (f(x) + f(2x) - f(3x)) &= \lim_{x \rightarrow +\infty} (\sqrt{x^2+1} + \sqrt{4x^2+1} - \sqrt{9x^2+1}) = \\ &= \lim_{x \rightarrow +\infty} (\sqrt{x^2+1} - x + \sqrt{4x^2+1} - 2x - \sqrt{9x^2+1} + 3x) = \\ \lim_{x \rightarrow +\infty} &\left(\frac{(\sqrt{x^2+1} - x)(\sqrt{x^2+1} + x)}{\sqrt{x^2+1} + x} + \frac{(\sqrt{4x^2+1} - 2x)(\sqrt{4x^2+1} + 2x)}{\sqrt{4x^2+1} + 2x} - \frac{(\sqrt{9x^2+1} - 3x)(\sqrt{9x^2+1} + 3x)}{\sqrt{9x^2+1} + 3x} \right) = \\ \lim_{x \rightarrow +\infty} &\left(\frac{x^{\cancel{2}} + 1 - x^{\cancel{2}}}{x \left(\sqrt{1 + \frac{1}{x^2}} + 1\right)} + \frac{4x^{\cancel{2}} + 1 - 4x^{\cancel{2}}}{x \left(\sqrt{4 + \frac{1}{x^2}} + 2\right)} - \frac{9x^{\cancel{2}} + 1 - 9x^{\cancel{2}}}{x \left(\sqrt{9 + \frac{1}{x^2}} + 3\right)} \right) = 0 + 0 - 0 = 0 \end{aligned}$$

$$\text{)} \lim_{x \rightarrow -\infty} (f(x) + x) = \lim_{x \rightarrow -\infty} (\sqrt{x^2+1} + x) = \lim_{x \rightarrow -\infty} \left(\sqrt{x^2 \left(1 + \frac{1}{x^2}\right)} + x\right) = \lim_{x \rightarrow -\infty} \left(-x \sqrt{1 + \frac{1}{x^2}} + x\right) =$$

$$\lim_{x \rightarrow -\infty} \left[x \left(-\sqrt{1 + \frac{1}{x^2}} \right) \right]$$

$$\lim_{x \rightarrow -\infty} \left(-\sqrt{1 + \frac{1}{x^2}} \right) = -1, \quad :$$

$$- \quad -1 > 0 \Leftrightarrow > 1 \quad \lim_{x \rightarrow -\infty} (f(x) + x) = -\infty$$

$$- \quad -1 < 0 \Leftrightarrow < 1 \quad \lim_{x \rightarrow -\infty} (f(x) + x) = +\infty$$

$$\mu \quad \lim_{x \rightarrow -\infty} (f(x) + x) = 0 \quad = 1. \quad :$$

$$\lim_{x \rightarrow -\infty} (f(x) + x) = \lim_{x \rightarrow -\infty} (\sqrt{x^2 + 1} + x) = \lim_{x \rightarrow +\infty} \frac{(\sqrt{x^2 + 1} + x)(\sqrt{x^2 + 1} - x)}{\sqrt{x^2 + 1} - x} = \lim_{x \rightarrow +\infty} \frac{x^2 + 1 - x^2}{x \left(-\sqrt{1 + \frac{1}{x^2}} - 1 \right)} = 0$$

$$\text{i. } \lim_{x \rightarrow +\infty} \frac{f^2(x) - \mu x}{f^2(x) + \mu x} = \lim_{x \rightarrow +\infty} \frac{x^2 + 1 - \mu x}{x^2 + 1 + \mu x} = \lim_{x \rightarrow +\infty} \frac{\frac{x^2 + 1 - \mu x}{x^2}}{\frac{x^2 + 1 + \mu x}{x^2}} = \lim_{x \rightarrow +\infty} \frac{1 + \frac{1}{x^2} - \frac{\mu x}{x^2}}{1 + \frac{1}{x^2} + \frac{\mu x}{x^2}} = \frac{1 + 0 - 0}{1 + 0 + 0} = 1$$

$$\text{ii. } \lim_{x \rightarrow +\infty} \frac{x \mu x}{f^2(x)} = \lim_{x \rightarrow +\infty} \frac{x \mu x}{x^2 + 1} = \lim_{x \rightarrow +\infty} \frac{\frac{x \mu x}{x^2}}{\frac{x^2 + 1}{x^2}} = \lim_{x \rightarrow +\infty} \frac{\frac{\mu x}{x}}{1 + \frac{1}{x^2}} = \frac{0}{1 + 0} = 0 \quad x > 0 \quad :$$

$$\left| \frac{\mu x}{x} \right| = \left| \frac{\mu x}{x} \right| \leq \frac{1}{x} \Leftrightarrow -\frac{1}{x} \leq \frac{\mu x}{x} \leq \frac{1}{x}, \quad \lim_{x \rightarrow +\infty} \frac{1}{x} = \lim_{x \rightarrow +\infty} \left(-\frac{1}{x} \right) = 0,$$

$$\mu \quad \lim_{x \rightarrow +\infty} \frac{\mu x}{x} = 0$$

$$\text{iii. } \lim_{x \rightarrow +\infty} \frac{f^2(x)}{4 + \mu x + x} = \lim_{x \rightarrow +\infty} \frac{x^2 + 1}{4 + \mu x + x} = \lim_{x \rightarrow +\infty} \frac{\frac{x^2 + 1}{x^2}}{\frac{4 + \mu x + x}{x^2}} = \lim_{x \rightarrow +\infty} \frac{1 + \frac{1}{x^2}}{\frac{4}{x^2} + \frac{\mu x}{x^2} + \frac{x}{x^2}} = +\infty$$

$$\lim_{x \rightarrow +\infty} \frac{\eta \mu x}{x} = 0 \quad \mu \quad \lim_{x \rightarrow +\infty} \frac{\sigma \nu x}{x} = 0. \quad \mu \quad x \in \mathbb{R} \quad :$$

$$-1 \leq \eta \mu x \leq 1, \quad -1 \leq \sigma \nu x \leq 1, \quad -2 \leq \eta \mu x + \sigma \nu x \leq 2 \Leftrightarrow 2 \leq 4 + \eta \mu x + \sigma \nu x \leq 6,$$

$$4 + \mu x + x > 0$$

$$\text{)} \lim_{x \rightarrow +\infty} \left(x \mu \frac{1}{f(x)} \right) = \lim_{x \rightarrow +\infty} \left(x \mu \frac{1}{\sqrt{x^2 + 1}} \right)$$

$$\mu \quad \frac{1}{\sqrt{x^2 + 1}} = u > 0 \Rightarrow \frac{1}{x^2 + 1} = u^2 \Leftrightarrow x^2 + 1 = \frac{1}{u^2} \Leftrightarrow x^2 = \frac{1}{u^2} - 1 \Leftrightarrow x = \sqrt{\frac{1}{u^2} - 1}$$

$$x \rightarrow +\infty \quad \lim_{x \rightarrow +\infty} u = \lim_{x \rightarrow +\infty} \frac{1}{\sqrt{x^2 + 1}} = \lim_{x \rightarrow +\infty} \frac{1}{x \sqrt{1 + \frac{1}{x^2}}} = 0, \quad :$$

$$\lim_{x \rightarrow +\infty} \left(x \mu \frac{1}{\sqrt{x^2 + 1}} \right) = \lim_{u \rightarrow 0^+} \left(\sqrt{\frac{1}{u^2} - 1} \cdot \mu u \right) = \lim_{u \rightarrow 0^+} \left(\sqrt{\frac{1 - u^2}{u^2}} \cdot \mu u \right) =$$

$$\lim_{u \rightarrow 0^+} \left(\frac{\sqrt{1 - u^2}}{u} \cdot \mu u \right) = \lim_{u \rightarrow 0^+} \left(\sqrt{1 - u^2} \cdot \frac{\mu u}{u} \right) = 1 \cdot 1 = 1$$

$$\text{)} \lim_{x \rightarrow +\infty} (e^{f(x)} - 2e^x) = \lim_{x \rightarrow +\infty} \left[e^x \left(\frac{e^{f(x)}}{e^x} - 2 \right) \right] = \lim_{x \rightarrow +\infty} \left[e^x (e^{f(x)-x} - 2) \right] = +\infty (e^0 - 2) = -\infty$$

i. $\mu f(x) = u, \quad x \rightarrow +\infty \quad u \rightarrow +\infty . \quad :$

$$\begin{aligned} \lim_{x \rightarrow +\infty} \frac{e^{f(x)} - 2^{2f(x)+1}}{e^{f(x)} + 3^{f(x)}} &= \lim_{u \rightarrow +\infty} \frac{e^u - 2^{2u+1}}{e^u + 3^u} = \lim_{u \rightarrow +\infty} \frac{e^u - 2(2^2)^u}{e^u + 3^u} = \lim_{u \rightarrow +\infty} \frac{e^u - 2 \cdot 4^u}{e^u + 3^u} = \\ &= \lim_{u \rightarrow +\infty} \frac{4^u \left(\frac{e^u}{4^u} - 2 \right)}{3^u \left(\frac{e^u}{3^u} + 1 \right)} = \lim_{x \rightarrow +\infty} \left[\left(\frac{4}{3} \right)^u \frac{\left(\frac{e}{4} \right)^u - 2}{\left(\frac{e}{3} \right)^u + 1} \right] = +\infty \frac{0-2}{0+1} = -\infty \end{aligned}$$

ii. $\mu -f(x) = u, \quad x \rightarrow -\infty$

$$\lim_{x \rightarrow -\infty} [-f(x)] = \lim_{x \rightarrow +\infty} (-\sqrt{x^2+1}) = \lim_{x \rightarrow -\infty} \left(x \sqrt{1 + \frac{1}{x^2}} \right) = -\infty . \quad :$$

$$\lim_{x \rightarrow -\infty} \frac{2^{-f(x)} + 5^{-f(x)}}{3^{-f(x)} - 4^{-f(x)}} = \lim_{u \rightarrow -\infty} \frac{2^u + 5^u}{3^u - 4^u} = \lim_{u \rightarrow -\infty} \frac{2^u \left(1 + \left(\frac{5}{2} \right)^u \right)}{3^u \left(1 - \left(\frac{4}{3} \right)^u \right)} = \lim_{u \rightarrow -\infty} \left[\left(\frac{2}{3} \right)^u \frac{1 + \left(\frac{5}{2} \right)^u}{1 - \left(\frac{4}{3} \right)^u} \right] = (+\infty) \cdot \frac{1+0}{1-0} = +\infty$$